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b - 733‘133 !2 ! Pl

p - Q 7731.#0(

M = 28. 8(0-3; ! kq/mol
T = 254273.15; &% K
rho = p*M/8.314/T % kg/m3

rho = 1.1370

eta = 18.4le-6; &% Pa.s

rhop = 1280; % kg/m3

dp = 4e-3; ¥ m

AR = 9.81*dp”3*rho* (rhop-rho)/eta”2

AR = 2.6935e+06

eps0 = 0.4;
Blam=2.34;
REP=sqrt (4/3*eps0”3/Blam*AR)

REP = 313.4072

Alam = 133

Alam = 133

C1=3/4*Alam/Blam,
C2 = 3.1357e-4 %7/150"2;

C2 = 3,1357e-04

g REPalt=Cl*(l—epsO)*(sqrt(l+C2*epsO 3/(1 epsO)“2*AR) =10 Z20D
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REPalt = 288.8743
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v = REP'eta/dp/rho
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v = 1.2687

- ult = REPalt*eta/dp/rho
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